What do we call
the 25th
December? What
is the 3 st
December?

What are the
first five prime
numbers?

H

Work out 3,291
+4,195

A Christmas
t-shirt costs £7.50
and a Christmas
necklace costs
£2.70. How much
do they cost
altogether?

£1 coin?

How many
sleeps are
there until
Christmas?

If it was 2

d

England, a

degrees c
Finl \/
|
Finland?

Reindeers can
fly 45 minutes
before they need
a break! How
many breaks do
they need to fly
2 hours?

If this year is
2019, whatis
next year?

An elf can make
108 toys.in an
hour. How many
toys can they
makein5
hours?

23

14?

Write in words
the number
8,428

Santa loads his
sleigh at 3pm. It
takes him 5
hours. What time
does he finish?

3/4 of the

the
S
many go?

How many
months are
therein 5
years?

| have two

ers,
b e
m
w

en
need to buy?

A Christmas

e
r e
S re Dox.
a

square?

A Christmas
game costs
40p. How many

games can | buy
with £5?

Sophie wins a
Christmas game
with 120 points.

Therecordis 146

points. How many

more points does
she need?

altogether?

lhave: x+3 =8
What is the
value of x?




